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Example
Calculate the power necessary to move a body of mass 1.5 kg up a smooth 
(frictionless) plane inclined at an angle of 30o to the horizontal with a speed of 5.0 
m s­1.

Example
Coal, when burned, produces approximately 30 MJ of energy for each kJ burned.  
A typical coal fired power station produces  electrical energy at the rate of 500 
MW.  If the efficiency of a typical power station is 45%, calculate the mass of coal 
burned each hour.  (1 tonne = 103 kg)

Example
A 2000 W electric heater is used for an average of 10 hours for each of 90 days 
during winter.  What is the total energy used by the heater in joules?  If the coast 
of electrical energy is 20 cents per kilowatt hour, calculate the total cost of running 
the heater for this period.
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